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1. You are in the market for a used 2006 Honda Accord. You know that half of the
2006 Accords are lemons and half are peaches. If you could be assured that the
Accord you were buying were a peach, you would be willing to pay up to $10,000.
On the other hand, you would only be willing to pay $2,000 for a lemon. You have
no ability to discern whether any particular Accord is a lemon or a peach. Sellers
of Accords, on the other hand, are likely to know whether their particular car is a
lemon or a peach. Suppose sellers of lemons will sell their cars for $1,500 or more
and peach sellers will be willing to sell their cars for $8,500 or more. If you are
risk neutral, you are willing to offer and are willing to sell
you their car.

(A) $2,000 for a car of unknown quality; lemon owners only
(B) $5,000 for a car of unknown quality; lemon owners only
(C)$8,500 for a car of unknown quality; both lemon and peach owners.
(D) $6,000 for a car of unknown quality; lemon owners only

2. In the market for used motorcycles there are high- and low-quality motorcycles.
Potential buyers cannot determine prior to purchase whether a motorcycle is high-
or low-quality. The following statement that best describes what is likely to
happen in this market is:

(A) The price of a used motorcycle will be very close to the value of a high-
quality motorcycle, which will encourage people to sell high-quality motorcycles.
(B) This is an example of adverse selection, as the buyer will have more
information about the quality of the used motorcycle than the seller will.

(C) Over time the market price of a used motorcycle will increase, as there is more
of an incentive for owners of high-quality motorcycles to sell than owners of low-
quality motorcycles.

(D) The price of a used motorcycle will be between the buyer and seller values for
low-quality motorcycles. This will encourage people to withdraw high-quality
motorcycles from the market
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Demand angﬁost conditions for the Chewing Gum Industry

12 14 16 Q
Packs of chewing gum in thousands

3. Refer to Figure 1 above. Six firms that produce chewing gum form a cartel. The
cartel faces the market demand curve given by D. To maximize profits, the cartel
should produce packs of chewing gum and the price should be

(A) 12,000; $.25
() 14,000; $.30
(C) 16,000; $.35
(D) 12,000; $.40

Demand and ogit conditions facing the Custom Sweater Shop
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4. Refer to Figure 2 above. Assume The Hand Made Sweater Shop has fixed costs of
$500 and is a monopolistically competitive firm. To maximize profits in the short run,

the firm should produce personalized sweaters.
Ao
(B) 140
(C) 150
(D) 100
A

Todd’s utility

Tony’s utility

5. Refer to Figure 3 above. If society is at point A, the distribution is
(A) inefficient, because Todd?s utility is zero.
(B) inefficient, because both Todd and Tony can be made better off.
(C) efficient because the distribution of income is equitable.

(D) efficient because it is impossible to make Todd better off without making Tony
worse off.
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6. Refer to Figure 4 above. The top fifth of families earned % of income in
Outland.
(A)20
(B) 40
(C) 60
D) 95

7. Which of the following illustrates the principle of second best?

(A) The government imposes taxes on gasoline and the tax revenue collected is used
to pay for road repair.

(B) The government imposes a tax on a paper manufacturer that equals the cost of
cleaning the river damaged by the waste discharged into the river by the paper
manufacturer.

(C) The government decides to impose taxes on all grains, rather than imposing a tax
only on wheat.

(D) A tax imposed on land, because this tax distorts economic decisions less than
taxes on other factors of production.
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India Vietnam
Cashews Tea Cashews Tea
0 600 0 600
20 500 20 450
40 400 40 300
60 300 60 150
80 200 80 0
100 100 — —

120 0 — —

8. Refer to Table 1. The most that Vietnam will be willing to pay for a bushel of
cashews is

(A) 5 1bs. of tea.
(B) 7.5 1bs. of tea.
(C) 6.25 1bs. of tea.
(D) 10 1bs. of tea.
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9. Refer to Figure 5 above. From a no trade position, an import quota of 6,000 pounds
decreases domestic supply by pounds and lowers the price by per

pound.

(A) 8,000; $5
(B) 2,000; $2
(C) 6,000; $3
(D) 4,000; $1

10. Which of the following statements is true?

(A) Income tends to be more equally distributed in developing countries than in
developed countries.

(B) Low productivity in the agricultural sector in developing countries means that
farm output per person is barely sufficient to feed a farmer's own family.

(C) The percentage of the labor force employed in urban areas is smaller in
developed nations than in developing nations.

(D) Developed nations account for only about one-half of the world?s population,
but they consume about three-quarters of the world's output.
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